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[J6] =1 [A2] =1
[A3] =1
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@ 75mm ¢ 400mm

4

m3
Q) ()
35.00
20.39
6.92
5.40
)
65.00
18-8-40 W/C(60 ),
65.00
1
[01] = 1 [39] =3
[N1] = 32 18-8-40(  )W/C60% [J5] =1
7] = 1 [J8] =1
N3] = 1
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@ 75mm ¢ 400mm

5

m2

()

Q)

100.00

46.19

25.55

9.57

1
[91] = 1

[J2] = 1
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1. BdKAEDIP-GX ¢ 400mm L EF



=2

DIP-GX ¢ 400mmBkKETRRT HEBFtHEE

% : DIP-GX ¢ 400mmiE K L=181.893m(180.437m)

ER &3 Y:1.20m~2.10m NO. 71
& 4 R
I £ _# FBRTZE i % 7 BHR B _Z
STEE-ENINFAZ) EEX
HH GXHZ FHhaMNEEekE ¢ 400 x 6,000 X 8| 6.000 6000 x( 8 + + ) = 48.000
1EE - ENINFAZVYT
GXFZ 399Nk E ¢ 400 x 6,000 Z: 26 YERELY = 102.958 H1%H
CCH% 1EE - ENINFAZVY
GXFs YOMLEERE BYE ¢ 400 x 2,745 N 1| 2.745 = 2745
CCH% 1S -ENINFAZVYT
GXFs ¥OMLEERE BYE ¢ 400 x 2,700 N 1| 2.700 = 2700
x( + + ) =
GXfe —2TFE ¢ 400 x ¢ 300 1& 2 0810 0810 x( 2 + + ) =  1.620
GXf; RiELAZRE ¢ 400 x ¢ 300 & 1 0530 0530 x( 1 + + ) = 0530
GXFz HiE ¢ 400 x 90° & 3 1.035 1035 x( 3  + + ) = 3.105
CCE%
GXFz HiE ¢ 400 x 90° & 1] 1.035 1035 x( 1 + + ) = 1.035
GXFz HiE ¢ 400 x 45° & 11/ 0.655 0655 x( 11+ + ) = 7.205
GXFz HiE $400x22° 1/2 | & 2| 0.500 0500 x( 2 + + ) = 1.000
GXFz HiE $400x11° 1/4 | A 5 0420 0420 x( 5 + + ) = 2100
GXFz HiE ¢$400%x5° 5/8 LE] 9/ 0.390 0390 x( 9 + + ) = 3510
s
GXf; WZEhE ¢ 400 x 45° & 2| 0.350 0350 x( 2 + + ) = 0.700
s
GXf; MZEhE $400x22° 1/2 | & 5 0.210 0210 x( 5 + + ) = 1.050
CCE# 7.5K- K2 o 15518
GXF 750V {TEE $400x% @75 & 1] 0.465 0465 x( 1 + + ) = 0465 =X
GXf; #Ed ¢ 400 & 5 0.300 0300 x( 5 + + ) = 1500
GXf; mREE ¢ 400 & 1/ 0.020 0020 x( 1 + + ) = 0.020
GXftz 547 ¢ 400 @ 30 0.055 0055 x( 30 + + ) = 1.650
mE
MERELOYLY @ 400 # 40 40 = 40
SUS304BN - 1" Al - 1Rk 2pEs0 CCHi
GXF: B ERES M $ 400 #8 59 61 - 2 = 59
CCHEiE SUS304BN 1" L#f - 1R iR CCHE#&
GXF: B ERES M $ 400 # 2 2 = 2
NSHIEE &R R ¢ 400 #H 1 1 = 1
b75-Z.% EER1
KERSERELSH RV EIMA-75K | H 1 1 = 1
¢ 75-H150- 75Kz = 2
F-LEGEES FCD | RS EHE-LN-K | & 1 1 = 1
BEEER = 181.893
( B = 8.600
@ T5GFh Aryb &FT
10V EEM SUS304BN-7.5K | #A 1 1 = 1
&FT
30V FE R & 75RF-GFRFIN Rob-75K | X 1 1 = 1
WERRAI HRER ¢ 75-7.5K #H 1 1 + = 1
XEEE #8 3 3+ = 3
AT R FIE R BEER
FYIFLYAY-7 ¢ 400F m 2224 173293 x {70 x (1 + 01) + 60} = 222393
#8 1+ BRI EER-1 BEER
ERNAVIN ¢ 400 o | 272 173293 x {4 x 11) + 50) -+ 60} = 271492
¢ 400 TEER FHER Tt
BEHRT—T W=50 m 171.8 180437 — 8600 — = 171.837
TELEE FHER Tt
HERAZES— W=150 2% m 171.8 180.437 — 8600 — = 171.837




DIP-GX ¢ 400mmBkKETRRT HEBFtHEE

ER &3 Y:1.20m~2.10m NO. 71
& 4 R
I £ _# FBRTZE g % 2 B _Z
& (EHT)
Tt
EHE RAEET ML @400 m 181.9] 181.893 — = 181.893
EEES BE BYE
GXf; #F T $ 400 AT 35, 8 + 27 = 35
ERERS EmE CC#iE
GXfs ##F T $ 400 BT 61| 59 + 2 = 61
DERE
GX¥{ELAMT ¢ 400 A 40| 40 + = 40
NERE
K EUI-EBUT ¢ 400 =] 40 40 + = 40
BEmE
NSH #F TERSL $ 400 BT 11+ = 1
ERERS
NSH #F T $ 400 BT 11+ = 1
ERARET 75 p- 1 1 TR - WEF = 1
&FT m}
JSVUCHMFL ¢ 75 75K [m} 1 1 x 1 WER - FHTE = 1
BEE/ N
FYIFLVAY-THEL ¢ 400 m 173.3/1173.293 = 173.293
ERRT—IT m 171.8 E#MHE LY = 171.837
WEIESS — T W=150 24 m 171.8| &4 &Y = 171.837
¢ 400
BAKEHBRT BRER Bk m | 181.9) 181.893 = 181.893
[3>9)— ]
avH)—rhED
avy)—rT m3 9.1 (100 x  1.00 043 x 043 x m/4)
x (40 28) = 5813
avH)—hihEQ
(075 x 075 043 x 043 x 7/4) 480 = 2003
avH)—riHEQ
(075 x 1.80 043 x 043 x 7/4) 105 = 1.265
i = 9081
avH)—riHED
BT m2 281 (100 x 1.00 043 X 043 X 7/4) 4
+ (40 28) x 100 x 2 = 17.019
avH)—hihEQ
(075 x 075 043 x 043 x 7/4) 2
+ 480 075 x 2 = 8.035
avH)—riHEQ
(075 x 1.80 043 x 043 x 7/4) 1
+ 105 180  x 1 = 3.095
i = 28149




DIP-GX ¢ 400mmBkKETRRT HEBFtHEE

R EH T HY:1.20m~2.10m NO. 1
& 4 R
T7E £ _# BRTE g % 2 B _Z
(1]
¢ 400
EELETD-1 MEEEERE) | m 3.1 31 + 3.1
¢ 400
EELTD-2 MEEEERE) | m 9.1 91 + 9.1
¢ 400
EELTD-3 MEEEERE) | m 4.1 41 + 4.1
¢ 400 ®-3
a1 FEER(ER) m 5.7 79 - 22 5.7
¢ 400
EELTO-2 FEER(ER) m 2.6 26 + 26
¢ 400
EHLTO-3 FEER(ER) m 12.6 126 + 12.6
@ 400 ®-1 ®-2
BRI L TR HEEREE) m 120.2 165 + 905 - 17 - 48 120.2
¢ 400
EHILTO-2 FHEERR(EE) m 47 47 + 4.7
¢ 400 (309" —hBH )
EELTO-1 FEER(ER) m 1.7 17 + 1.7
¢ 400 (309" —hBH )
EHLTO®-2 FEER(ER) m 48 40 + 08 48
¢ 400 (309" —hBH )
EHLTO-3 FEER(ER) m 2.2 22 + 2.2
[t8T)
ZEMARLIBT LSP-2& w=250 | TI®-1 LI@-1 +I6G-2 14.8kg/m
H=2.0m 1EX{R =TAH m 16.2 31 + 57 + + + 48 16.2
ZEMARLIBT LSP-2& w=250 | TI®-2 14.8kg/m
H=25m 1B} = TAH m 9.1 9.1 9.1
BEMRRLET LSP-2% W=250 Al +I®3 +I6-3 14.8kg/m
H=2.5m 2EE¥X{R} = TAH m 14.8 126 + 2.2 14.8
ZEMARLIBT LSP-2& w=250 | TI®-3 14.8kg/m
H=3.0m 2EX{} =TAH m 4.1 41 + 4.1




[DIP-GX ¢ 400] tIEIRE

No. 1 PR - R/ NI ST Y& = 0.97m ZY)E = 1.02m
W e R it | ox (B2 aw won (A

F5 K kS FEIR Iy TR S|F/EE R B OS|EFEF BR E S I
@ GX-GX | 2.500 2.500 3. 500 1 1
@ GX-GX | 3.802 2 | GX-GX | 1.411 5.213 0. 787 2 2
@ GX-GX | 4. 305 4. 305 1. 695 1 1
@ GX-GX | 5.431 5.431 0. 569 1 1
@ GX-GX | 1.000 3 | GX-GX | 1.911 2.911 3. 089 2 2
@ GX-GX | 1.158 4 | GX-GX | 3.539 4. 697 1. 303 2 2
@ GX-GX | 1.009 5 | GX-GX | 3.280 4. 289 1.711 2 2
GX-GX | 5.260 5.260 0. 740 1 1
@ GX-GX | 5.260 5.260 0. 740 1 1
GX-GX | 5.260 5.260 0. 740 1 1
@ GX-GX | 4.000 6 | GX-GX | 1.500 5. 500 0. 500 2 2
@ GX-GX | 2.413 7 | GX-GX | 2.420 4. 833 1. 167 2 2
@ GX-GX | 2.555 8 | GX-GX | 1.500 4. 055 1. 945 2 2

7 3 [DIP-GX ¢ 400] L =600 13 & 59.514[18.486| 20 20




[DIP-GX ¢ 400] tIEIRE

No. 1 PR - R/ NI ST Y& = 0.97m ZY)E = 1.02m
W e R it | ox (B2 aw won (A

F5 K kB OS|F 2N Iy TR S|F/EE R B OS|EFEF BR E S I
@ GX-GX | 1.245 9 | GX-GX | 1.020 2. 265 3.735 2 2
@ GX-GX | 3.000 10 | GX-GX | 1.484 4. 484 1.516 2 2
GX-GX | 3.176 11 | GX-GX | 1.020 4. 196 1. 804 2 2
@ GX-GX | 2.168 12 | GX-GX | 2.803 4.971 1. 029 2 2
GX-GX | 2.139 13 | GX-GX | 1.621 3. 760 2.240 2 2
GX-GX | 1.319 15 | GX-NS | 2. 000 3. 319 2. 681 2 2
GX-GX | 2.799 2.799 3.201 1 1
@ GX-GX | 1.141 1. 141 4. 859 1 1
@ GX-GX | 2.505 2.505 3. 495 1 1
@ GX-GX | 0.970 14 | GX-GX | 2.278 3. 248 2.752 2 2
@ GX-GX | 4.830 4. 830 1.170 1 1
@ GX-GX | 3.500 3. 500 2. 500 1 1
GX-GX | 2.426 2. 426 3.574 1 1

7 3 [DIP-GX ¢ 400] L =600 13 & 43. 444 34.556| 20 20




[DIP-GX ¢ 400] t1&

kS

No. 1
BEHs  R/NOE TR Y4 = 0.97m ZHE = 1.02m
e o A ) i
W OO T A RN O
Bk & S(F 2N Iy 2N S|FEE R B OS|EFEE R = yrs |
N [DIP-GX ¢ 400] L = 6,000 PN
& [DIP-GX ¢ 400] L = 6,000 26 A 102.958] 53. 042 40 40




T T ¥ R E &
No. 1 0. 1 TID-1 NO. 2 TI®D-2 0.3 TI®D-3 NO. 4 TI®@-1 NO. 5 TI®@-2 NO. 6 +I®@-3 NO. 7 T+I®-1 NO. 8 +I®-2
400mm DIP-GX BZ K& 3.1 “EE L 9.1 “EE L 4.1 “EE L 5.7 “EE L 2.6 “EE L 12. 6 “EE L 120. 2 “EE L 4.7 “EE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 N E
AsEhiZEhR 2.00 6.20 2.00 18.20 2.00 8.20 32.60 )
SEUMT t=15cmLL T m
As#iZtRR BHO. 28m3 1.00 3.10 1.00 9.10 1.00 4.10 16.30 )
SHEERRREFE T [t=10cmlt m2
BHO. 28m3 1.53 4.74 1.83 16. 65 2.33 9.55 1.58 9.01 1.78 4.63 2.18 27.47 1.22 146. 64 1.31 6.16 224.85)
AR R T ME L m3
BHO. 28m3 0.49 1.52 0.49 4.46 0.49 2.01 0.49 2.79 0.49 1.27 0.49 6.17 0.45 54.09 0.45 2.12 74.43 )
HHERT BER m3
BHO. 28m3 0. 65 2.02 0.95 8.65 1.45 5.95 0.95 5.42 1.15 2.99 1.55 19.53 0.62 74.52 0.71 3.34 122.42 )
HERT HESL m3
(RC-40) 1.00 3.10 1.00 9.10 1.00 4.10 16.30 )
TREERET t=15cm m2
(RM-30) 1.00 3.10 1.00 9.10 1.00 4.10 16.30 )
LRERET t=17cm m2
BAZTHLAs13mm 1.00 3.10 1.00 9.10 1.00 4.10 16.30 )
B R 18 16 t=3cm m2
BitunT 0. 81 2.51 0.77 7.01 0.72 2.95 0.52 2.96 0.50 1.3 0.46 5.80 0.53 63. 71 0.52 2.44 88.68 )
(£8) 41DT m3
BitunT 0.10 0.31 0.10 0.91 0.10 0.41 1.63)
(AS) 4tDT m3,
2AE 0.24 0.74 0.24 2.18 0.24 0.98 3.90)
ASH% t
TEEE 1.00 3.10 1.00 9.10 1.00 4.10 16. 30
HRE{REIR (5-5-10-15) m2,




T T R K RO

No. 1 NO. 9 +IG-1 NO.10 £TI(®-2 | NO.11 +I®-3 | NO.12 NO. 13 NO. 14 NO. 15
400mm DIP-GX Bk & 1.7 =EE L 4.8 =EE L 22 =EEL SEE L SEE L SEE L SEE L
SER L SER L SER L SER L SER L SEE L SEE L
£ i i 1 N F & F BER=E
AsFHZERR ( M€ 32.60)] (¢ 33)
SEUMT t=15cmLL T m
As#iZtRR BHO. 28m3 ( ¢ 16.30 )| ( 16 )
SHEERRREFE T [t=10cmlt m2
BHO. 28m3 1.37 2.33 1.88 9.02 2.24 4.93 (16.28)][C 241.13)|( 240 )
AR R T ME L m3
BHO. 28m3 ( MO 74.43)]( 70)
HHERT BER m3
BHO. 28m3 0. 81 1.38 0.88 4.22 1.24 2.73 ( 8.33 )] 130.75)( 130 )
HERT HESL m3
(RC-40) ( ¢ 16.30 )| ( 16 )
TREERET t=15cm m2
(RM-30) ( ¢ 16.30 )| ( 16 )
LRERET t=17cm m2
BEZHAs13mm ( € 16.30 )¢ 16)
B R 18 16 t=3cm m2
BitunT 0.47 0.80 0.90 4.32 0. 86 1.89 ( 7.01)[[C 95.69 )| ( 100 )
(£8) 41DT m3
BimsT ( WO 1.63)] (¢ 2)
(AS) 4tDT m3,
ZAE ( MO 3.90) ¢ 3.9)
ASH% t
TEEE 16. 30 16.3

iz g =) (5-5-10-15) m2




+ I # it B =
No, 1
WrigidsS = (-1 DIPg400 L= 3.1 m
Bt B = il (E ) HaE 1.20 m (£#¢0)
B = 0430 X 0430 X /4 = 0.145
EHE = X X z /J 4 =
Im2%47
% 7t #H = H o & & i =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
LERIE 1. BHO.28m3
AsEERERR t=10cmbd 1.00 X 1.00 = m2 1.00
AT BHO.28m3
- A - FEE A 1.00 X 1.00 X( 1.63 — 0.10 )= m3 1.53
T BHO.28m3
K NFRED AR 1.00 X 1.00 X 0.63 — 0.145 = m3 0.49
T BHO.28m3
LG TN A 1.00 X 1.00 X 0.65 = m3 0.65
TSI T (RC-40)
t=15cm 1.00 X 1.00 = m2 1.00
/BT (RM-30)
t=17cm 1.00 X 1.00 = m2 1.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 1.00 = m2 1.00
LG T 4DT wmElE WAL
FEAS 177 1.53 —( 0.65 = 0.90 )= m3 0.81
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 1.00 X 0.10 = m3 0.10
EIN -
TAT7 /iR 0.10 X 235 = t 0.24




T I #% E & & EBE
No,2
Wrigi#sS = (D-2 DIP$400 L= 9.1 m
Bt B = il (E ) HaE 1.50 m (£#¢0)
B = 0430 X 0430 X /4 = 0.145
EHE = X X z /J 4 =
Im2%47
% 7t #H = H o & & i =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
LERIE 1. BHO.28m3
AsEERERR t=10cmbd 1.00 X 1.00 = m2 1.00
AT BHO.28m3
- A - FEE A 1.00 X 1.00 X( 1.93 — 0.10 )= m3 1.83
T BHO.28m3
K NFRED AR 1.00 X 1.00 X 0.63 — 0.145 = m3 0.49
T BHO.28m3
LG TN A 1.00 X 1.00 X 0.95 = m3 0.95
TSI T (RC-40)
t=15cm 1.00 X 1.00 = m2 1.00
/BT (RM-30)
t=17cm 1.00 X 1.00 = m2 1.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 1.00 = m2 1.00
LG T 4DT wmElE WAL
FEAS 177 1.83 —( 095 = 0.90 )= m3 0.77
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 1.00 X 0.10 = m3 0.10
EIN -
TAT7 /iR 0.10 X 235 = t 0.24




+ I # it B =
No,3
Wrigi#sS = (D-3 DIP$400 L= 4.1 m
Bt B = il (E ) HaE 2.00 m (£#7)
B = 0430 X 0430 X /4 = 0.145
EHE = X X z /J 4 =
Im2%47
% 7t #H = H o & & i =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
LERIE 1. BHO.28m3
AsEERERR t=10cmbd 1.00 X 1.00 = m2 1.00
AT BHO.28m3
- A - FEE A 1.00 X 1.00 X( 2.43 — 0.10 )= m3 2.33
T BHO.28m3
K NFRED AR 1.00 X 1.00 X 0.63 — 0.145 = m3 0.49
T BHO.28m3
LG TN A 1.00 X 1.00 X 1.45 = m3 1.45
TSI T (RC-40)
t=15cm 1.00 X 1.00 = m2 1.00
/BT (RM-30)
t=17cm 1.00 X 1.00 = m2 1.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 1.00 = m2 1.00
LG T 4DT wmElE WAL
FEAS 177 233 —( 1.45 = 0.90 )= m3 0.72
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 1.00 X 0.10 = m3 0.10
EIN -
TAT7 /iR 0.10 X 235 = t 0.24




WrigrE5 =  (@-1 DIP$400 L= 5.7

m

o

T &

Bt B = G () 1.50

m_(1-#0)

EEE = 04530 X

0.450 X _«

/

4

= 0.145

R = X

X oz

/

4

=111}
—+

"

i

No,4

1m0

&

E

7

]

# &

i =

BRI T
AsEFLEIR t=15cmEL T

LERIE 1. BHO.28m3
AsEFLER t=10cmId T

mZ2

LHE 1. BHO.28m3
Wi A - FEE A

1.00 X 1.00 X(

1.93

0.35 )=

m3

1.58

HHECT BHO.28m3
LN AR

1.00 X 1.00 X 0.63

0.145 =

m3

0.49

HEECT BHO.28m3
LN FEAE A

1.00 X 1.00 X 0.95

m3

0.95

FEEEE T (RC~-40)
t=16cm

mZ2

LT (RM=30)
t=12cm

mZ2

BEIETIRIE IH (FAE B #7As 1 3mm, A 7))

t=3cm

mZ2

FELH T 4tDT
FHiAS A%

wmElE WAL
1.58 —( 0.95

0.90 )

m3

0.52

FELH T 4tDT
FHAZ TAT7 /e

m3

YN
TR77 /bR




T T H E i B

i

No,5
B s =  (@-2 DIPg400 L= 2.6 m
BEIE B = FlEE RS () 1.70 _m (1-#9)
R = 0430 X 0430 X x /4 = 0.145
B = X X z [/ 4 =

1m0

& 7 H# H o K & i =

AR T
AsIE_t=15cmLL T m
ERLRERAR T, BIHO.28m3
AsEHHEIR t=10cmIL m2
il T. BHO.28m3
1 B A - BEE - 1.00 X 1.00 X( 2.13 — 0.35 )= m3 1.78
HHET. BHO.28m3
SN A 1.00 X 1.00 X 0.63 — 0.145 = m3 0.49
HHET. BHO.28m3
SNl TS A 1.00 X 1.00 X 1.15 = m3 1.15
AT (RC-40)
t=16cm mZ2
RS T (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm mZ2
T 1. 4DT wmElE WAL
FHAH L4 1.78 —( 1.15 = 0.90 )= m3 0.50
FELH T 4tDT
FFAS TAT7/A b m3
EIN -]
TA77/bfi t




T T H E i B

i

No, 6
B s =  (@-3 DIPg400 L= 126 m
BEIE B = FlEE RS () 2.10 m (£#0)
R = 0430 X 0430 X x /4 = 0.145
B = X X z [/ 4 =

1m0

& 7 H# H o K & i =

AL LI
AsEHEIEIR t=15emIL T m

LERIE 1. BHO.28m3
AsEHHEIR t=10cmIL m2

KA. BHO.28m3
- A BT 1.00 X 1.00 X( 253 — 035 )= m3 2.18

HHECT BHO.28m3
SN A 1.00 X 1.00 X 0.63 — 0.145 = m3 0.49

HHECT. BHO.28m3
S NGEIED R A 1.00 X 1.00 X 1.b5 = m3 1.55
AT (RC-40)
t=16cm m2
_F/EEEAET (RM=30)
t=12cm mZ2
BEIETIRIE IH (FAE B #7As 1 3mm, A 7))
t=3cm m2
FEL ATy . DT AL WAL
FHiAS A% 2.18 —( 1.55 = 0.90 )= m3 0.46
FEA ST 4DT
FHIAB TATr /bl m3
YN ¢
TRZ 7/ ¢




i

T T H E i B

No,7
B s =  (@-1 DIPg400 L= 120.2 m
BEIE B = FlEE RS () 1.20 m (1-#9)
R = 0430 X 0430 X x /4 = 0.145
B = X X z [/ 4 =

1m0

& 7 H# H o K & i =

AR T
AsIE_t=15cmLL T m
ERLRERAR T, BIHO.28m3
AsEHHEIR t=10cmIL m2
il T. BHO.28m3
1 B A - BEE - 1.00 X 0.95 X( 1.63 — 0.35 )= m3 1.22
HHET. BHO.28m3
SN A 1.00 X 0.95 X 0.63 — 0.145 = m3 0.45
HHET. BHO.28m3
SNl TS A 1.00 X 0.95 X 0.65 = m3 0.62
AT (RC-40)
t=16cm mZ2
RS T (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm mZ2
T 1. 4DT wmElE WAL
FHAH L4 1.22 —( 0.62 + 0.90 )= m3 0.53
FELH T 4tDT
FFAS TAT7/A b m3
EIN -]
TA77/bfi t




o

Wrigi#s = (@-2 DIP$400 L= 4.7 m

T &

B #i = G () 1.30 m (£4E0)

EEE = 04530 X

0430 X /4

= 0.145

R = X

X =z J 4

=111}
—+

"

i

No,8

1m0

&

E

7

]

# &

i =

BRI T
AsEFLEIR t=15cmEL T

LERIE 1. BHO.28m3
AsEFLER t=10cmId T

mZ2

LHE 1. BHO.28m3
Wi A - FEE A

1.00 X 0.95 X ( 1.73

0.35 )=

m3

1.31

HHECT BHO.28m3
LN AR

1.00 X 0.95 X 0.63

0.145 =

m3

0.45

HEECT BHO.28m3
LN FEAE A

1.00 X 0.95 X 0.75

m3

0.71

FEEEE T (RC~-40)
t=16cm

mZ2

LT (RM=30)
t=12cm

mZ2

BEIETIRIE IH (FAE B #7As 1 3mm, A 7))

t=3cm

mZ2

FELH T 4tDT
FHiAS A%

IR
1.31 —( 0.71 + 0.90 )

m3

0.52

FELH T 4tDT
FHAZ TAT7 /e

m3

YN
TR77 /bR




T I & E § E E
No, 9
Wrigis 5 = G-1 DIP$400 L= 1.7 m
Bt B = G () 1.20 m (£#¢0)
Co#Elr = 0750 X 0.750 = 0.563
Im2%7
% 7t #H = H o & & i =
BRI T
AsEHEIEIR t=15emIL T m
ERLRERAR T, BIHO.28m3
AsEHHEIR t=10cmIL m2
il T. BHO.28m3
1 B A - BEE - 1.00 X 0.95 X( 1.79 — 0.35 )= m3 1.37
HHET. BHO.28m3
LN AR m3
HHET. BHO.28m3
SNl TS A 1.00 X 0.95 X 144 — 0.563 — 0.000 =| m3 0.81
AT (RC-40)
t=16cm mZ2
RS T (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm mZ2
T 1. 4DT wmElE WAL
FHAH L4 1.37 —( 0.81 = 0.90 )= m3 0.47
FELH T 4tDT
FFAS TAT7/A b m3
BN
TA77/bfi t




T I & E § E E
No, 10
Wrigis 5 = G)-2 DIP$400 L= 4.8 m
Bt B = G () 1.20 m (£#¢0)
Co#Elr = 1000 X  1.000 = 1.000
Im2%7
% 7t #H = H o & & i =
BRI T
AsEHEIEIR t=15emIL T m
ERLRERAR T, BIHO.28m3
AsEHHEIR t=10cmIL m2
il T. BHO.28m3
1 B A - BEE - 1.00 X 1.20 X(1.915 — 0.35 )= m3 1.88
HHET. BHO.28m3
LN AR m3
HHET. BHO.28m3
SNl TS A 1.00 X 1.20 X 1.565 — 1.000 =| ms3 0.88
AT (RC-40)
t=16cm mZ2
RS T (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm mZ2
T 1. 4DT wmElE WAL
FHAH L4 1.88 —( 0.88 + 0.90 )= m3 0.90
FELH T 4tDT
FFAS TAT7/A b m3
BN
TA77/bfi t




T I #% E & & EBE
No, 11
Wrigis 5 = G)-3 DIP$400 L= 2.2 m
Bt B = G () 1.50 m (£#¢0)
Co FE R 1.000 X  1.000 = 1.000
Im2%47
% 7t #H = H o & & i =
BRI T
AsEHEIEIR t=15emIL T m
LERIE 1. BHO.28m3
AsEHHEIR t=10cmIL m2
et 1. BHO.28m3
1 B A - BEE - 1.00 X 1.20 X (2215 — 0.35 )= m3 2.24
HEEZ 1. BHO.28m3
LN AR m3
HEEZ 1. BHO.28m3
SNl TS A 1.00 X 1.20 X 1.865 — 1.000 =| ms3 1.24
TSI T (RC-40)
t=16cm mZ2
RS T (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm mZ2
LG T 4DT Al AL
FHAH L4 2.24 —( 1.24 = 090 )= m3 0.86
FELH T 4tDT
FFAS TAT7/A b m3

YN
TR7 7Rk




Bk AEEAIEIHT B iR No. 8

il A Bl Ok A Y BN & B
AstiidE (F72) (5-5-10-15) A HE (t=10cm) 42.6 AsBEF 42.6 m2
AL AE IR AR AsElidE (—#%) (5-10-10) miEdE (t=5cm) AsAEt
ILB&#%E (6-3-10) A8 () ILBAEF
At T A E R KT AsEFFERR « t=15emPh E30emll B HiE &t m
AsERIERR + 10emPA T HE  42.6 &t 42.6 m m 42.6 43
SRR Bl (Rl T THEHE BEEERLY 16.3 of + 1.6 nf + 10.6 nf = 28.5 nf
(P&t - i HH) -
(5-5-10-15) REZ A (R T TEFER BEREIRLY + = At 28.5 ot
RS A Lo NG [ T THEHF BEREIR XY + =
(&t - i HH) -
(5-10-10) REZAE S (R T TEFER BEREIRLY + = At
L B e o WO (i T TR BEKEIRXLY + =
Al o 423 ~ ~ .
(i - ZHILE) BERENE (L LT E BEAIE LY + _ e
BRI A (RBRER) [T (t=10em) PRI 42.6 - (AhLEmAE 28.5 = 141
T #E (t=5cm) SR [H i A — i T A = m
TLB#IH Sl A 1H A — (LS T A = i
SRR R AsEREERR + t=10cmPA T {0 28.5  + THIHEEIH + LB E A +
s g 4.1+ m2 42.6 43
— - T B
RCERALEL (AsiEk) rHi3E #E3E (t=10cm) 28.5 X 0.03 + 4.1 % 0.10 2.3 m3
R A7
738 #3H (t=5em) e X 0.03 + v B>< 0.05 m3
LB iz Y oo . AR 8 i, &% 23 m3 | m 2.3 2
ASEEEE AL i t 5.4 5.4
X 2.3 X 2.35 t/m3 + X 2.35 t/m3 = 5.4 t )

AVh=yX0)" 770y ET [t=6em (BRI EHAEAE (R s - R T A m2




FOKE SRR T MEHEFER  No.8
| Sl ks A Y ALl & FEHE
+T el Pt AiEl (& 0) OFGEAsRASE  28.5 X 0.07  +
@ A A X 0.02 4+ REILBEH%E X 0.06 m3 2.0 2
AL A m3 2.0 2
T T AN m3 2.0 2
WHEARET | FeEE ARG T - AR A DA + OMMEARIRIR  42.6 | 42.6 13
ATENE T - il e b AR A AN A A m2
S AR T e DR B HF n2
#E (HH) ﬁ%%&ﬁg (20) - t=5em OMERGIAGERH  42.6 + m2 42.6 43
: T R (20) + t=5em R
FJE (HH) L 4 <W=3. Om O P A + 2
B (#5H) FPATHLALES (20) + t=bem OMEAEIRERE  42.6 m2 42.6 43
W>3.0m
B T t=3em SRR A/9=n /) 7 o DA IE A n2
2T E 2 AV t=6cm S e N
(FEH) (EARE s aby) | PHIBRE RETe 2
Jte =2 A A - 25 m2
X iR T VA = X FEHR - B - W=15emifadi KR IE R G R EL m 8.5 9
FAG - HE - W=30emifaE XA R A E L Y m
FEHR - B - W=45emffad XEIEEFHEE LD m 1.6 2
RE[ 30 FE S W=15cmifa XA R A E L Y m




=EN

= ey p = o= N N
AR A B CE N BN e M- =SNG pic 1 815)
EitEmfE (W=2. Om) SEEATE IR AsHIWT
Hl =y P B W ¥ M FER ES o Y ik &
[As t=10cm (5-5-10-15)]
1. 60
12.0 1. 60 1. 60 19. 20 12. 00 2 24. 00
3. 60 2. 00 1 2. 00
6.5 3. 60 3. 60 23. 40 6. 50 2 13. 00
3. 60 1 3. 60
SREEE IR 42. 60 42. 60
X E]fR
E#R (A -W=15cm)
MR - BE AR 1.6+6.9 8.5m
FE#E (3 -W=45cm)
ZIERR 1.6 1.6m




2. Bl/KEDIP-GX ¢ 300mm FX &3k



DIP-GX¢300mmEc kKEfRsR T HEFHES

k& T Y:1.60m NO, 2
&g 4 R
I/ £ _# FBRTZE i % 7 BHR B _Z
STEE-ENINFAZ)
H# GXHZ FHaMNEEekE ¢ 300 x 6,000 N 1 YERELY 1.000 YIEH
GXftz 547 ¢ 300 @ 1/ 0.054 0054 x( 1 + ) 0.054
GXT ZHELYIN LI F ¢ 300 1/ 0.700 0700 x( 1 + ) 0.700
Kiz #Eem ¢ 300 & 1 1+ 1
KT #4  dm A MR
ot 5t 5 L 169 $ 300 #H 2 1 x 2 2
BEEER 1.754
AT R FIE R BEER
KYIFLYAY-7 ¢ 300/ m 23 1754 x {70 (1 + 01) <+ 60} 2.251
#8 1+E 1 R HEE-1 BEER
EE/ SR ¢ 300 8 3 1754 x {4 11) + 50) <+ 60} 2.748
¢ 300 TELEER Tt
EHRRT— W=50 m 1.1 1.754 — 0.700 1.054
TELEER Tt
WEAEAEL — W=150 2% m 1.1 1.754 — 0.700 1.054
¢ 250 H=1.60
TtUHEA%E (O AR " 1 1 1
to#HA ¢ 250
LY Uk R L& H=150 {& 1 1 1
to#HA ¢ 250
LY Uk R &8 H=100 {& 1 1 1
to#HA ¢ 250
LY vik'ygR T& H=300 & 1 1 1
to#HA ¢ 250
LY vik'ygR EEB(MAZ) H=40 | & 1 1 1
=PI H=500 X 1 1 1




DIP-GX ¢ 300mmitkKEfRRT HEBFtHEE

ek T8 Y:1.60m NO, 2
& 4 R
TiE £ _# BHTZE iy =4 E =
FE (EHT)
Tt
BHERAREMT W @300 m 11 1754 — 0.700 1,054
EEES BE BYE
GXfs ##F T ¢ 300 (&7 1 1 + 1
UIERE
HG%EUT ¢ 300 =] 1 1 + 1
YR 1R
AAZHIBET ¢ 300 [m] 20 2+ 2
TUHHET ¢ 300 # 11 1
BEE /UK
FYIFLVRY-THEBEL ¢ 300 m 1.8 1.754 1.754
EHRT—TT m 1.1 E#sEY 1.054
HEZS— T W=150 2% m 1.1 B EY 1.054
¢ 300
BAKHEBRT BRER Bk m 18 1.754 + 1.754
¢ 250 H=1.60
TOFRABEREMGT (O AR &1 1 1 1
to#HA ¢ 250
LY Uk AR T L& H=150 & 1 1 1
to#HA ¢ 250
LY Uk AR T &8 H=100 & 1 1 1
to#HA ¢ 250
LY Uk IR BT T& H=300 & 1 1 1
to#HA ¢ 250
LY Uk IR BT JE&F (Ff2) H=40 | {& 1 1 1
(1]
¢ 300
EEILTD-4 MEEEERE) | m 1.8 18 + 1.8
[t8T)
BEMRRLET LSP-2% W=250 Al +ID-4 14.8kg/m
H=25m 1E¥X{& = TAH m 1.8 1.8 1.8




[DIP-GX ¢ 300] tIEIRE

No. 2
BEHs  R/NOE TR Y = 0.72 Y = 0.82
o z v % ’ 1 Al
Ws OO T A RN O
B WK R OS|[BE MK B OS|BE oMK B s|EF MK B OS|EE MK B & INZA R
@ GX-K 1. 000 1. 000 5. 000 1
7N i [DIP-GX ¢ 300] L = 6,000 1 i 1.000| 5.000 1




T I ¥ R K i %
No. 2 0. 1 TID-4 NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
300mm DIP-GX Bk & 1.8 =EE L SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & &

AsFHZERR 2.00 3.60 .60) 4)

SEUMT t=15cmLL T m
AsE&i%ERR BHO. 28m3 0.90 1.62 .62) 2)

SHEERRREFE T [t=10cmilt m2
BHO. 28m3 1.64 2.95 .95) 3)

AR R T ME L m3
BHO. 28m3 0.39 0.70 .70) 1)

HHERT BER m3
BHO. 28m3 0.95 1.1 JT1) 2)

HERT HESL m3
(RC-40) 0.90 1.62 .62) 2)

TREERET t=15cm m2
(RM-30) 0.90 1.62 .62) 2)

LRERET t=17cm m2
BEZRH As13mm 0.90 1.62 .62) 2)

B R 18 16 t=3cm m2
ERitunsT 0.58 1.04 .04) 1)

() 41DT m3
RitunT 0.09 0.16 .16 ) 0.2)

(AS) 4tDT m3,
ZAE 0.21 0.38 .38) 0.4)

ASH% t
TEEE 0.90 1.62 .62) 1.6)

HRE{REIR (5-5-10-15) m2,




+ I # it B =
No, 1
Wrigi#sS = (AD-4 DIP$300 L= 1.8 m
Bt B = il (E ) HaE 1.60 m (1:#¢0)
ERE = 0320 X 0320 X x / 4 = 0.080
EHE = X X z /J 4 =
Im2%47
% 7t #H = H o & & i =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
LERIE 1. BHO.28m3
AsEERERR t=10cmbd 1.00 X 0.90 = m2 0.90
AT BHO.28m3
- A - FEE A 1.00 X 090 X ( 1.92 — 0.10 )= m3 1.64
T BHO.28m3
K NFRED AR 1.00 X 090 X 0.52 — 0.080 = m3 0.39
T BHO.28m3
LG TN A 1.00 X 090 X 1.05 = m3 0.95
TSI T (RC-40)
t=15cm 1.00 X 0.90 = m2 0.90
/BT (RM-30)
t=17cm 1.00 X 0.90 = m2 0.90
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.90 = m2 0.90
LG T 4DT wmElE WAL
FEAS 177 1.64 —( 095 = 0.90 )= m3 0.58
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 090 X 0.10 = m3 0.09
EIN -
TAT7 /iR 0.09 X 235 = t 0.21




3. FEl/KEDIP-GX ¢ 200mm FX 3R



DIP-GX$200mmBc kK EE LT HEFES

ek M 4Y:1.00m~2.10m NO. 3
&g 4 R
I/ £ _# FBRTZE i % 7 BHR B _Z
SEE -WEMA&
HH | GXR FIMMEEHRE ¢ 200 % 5,000 & 3 YERAELY = 7578 YIEA
(2)] 0.285 0285 x( 2 + + ) = 0570
(GX —2TFEE) ¢ 400 x ¢ 300 & x( + + ) =
1) 0.170 0170 x( 1 + + ) = 0170
GXfe —2TFE ¢ 200 x ¢ 200 1& 1] 0.640 0640 x( 1 + + ) = 0.640
GXf; ELZAZRE ¢ 300 x ¢ 200 & 2| 0.505 0505 x( 2+ + ) = 1.010
GXFz HiE ¢ 200 x 90° LE] 2| 0.750 0750 x( 2 + + ) = 1500
GXFz HiE ¢ 200 x 45° & 1 0530 0530 x( 1 + + ) = 0530
GXFz HiE $200x22° 1/2 | @& 1, 0450 0450 x( 1 + + ) = 0450
GXFz HiE ¢$200%x5° 5/8 & 1, 0410 0410 x( 1 + + ) = 0410
s
GXf; MZEhE ¢ 200 x 45° & 1] 0.240 0240 x( 1 + + ) = 0.240
GXf; #EdH ¢ 200 & 2| 0.250 0250 x( 2+ + ) = 0.500
GXftz 547 ¢ 200 @ 3 0.039 0039 x( 3 + + ) = 0117
GXfz MZYIM-ME T FH ¢ 200 1& 1] 0.260 0260 x( 1 + + ) = 0.260
GXFz HE28 ¢ 200 LE] 1, 0410 0410 x( 1 + + ) = 0410
THKEITFE DIPFH
YIRS —ILFFE ¢ 200 x ¢ 200 & 1] 0.445 0445 x( 1 + + ) = 0.445
DIPFH
THKE B F ¢ 200 1& 1 1 + = 1
SUS304BN - 1" Al - 1Rk 2pEs0
GXTiz ERERESE&A ¢ 300 #H 2 2 = 2
SUS304BN - 1" Lk - i EmEsn
GXF; B ERES M ¢ 200 #8 15 15 = 15
EER1 BB X2
G-Link ¢ 200 #H 9 2 + 7 = 9
BEEER = 14.830
&FT
I3V FE R $ 200RF-GFEAN Ar9k-75K | X 1 1 = 1
AT R FIE R BEER
FYIFLYAY-7 ¢ 200F8 m 19.6 14830 x {60 x (1 + 01) = 50 = 19576
#HET—7 ¢ 200 m 15.4 14830 x 1040 = 1000 = 15423
¢ 200 FEEE  HAUF ENCiS
BEHRT—T W=50 m 13.6 14288 — 0260 — 0.445 = 13.583
TELEE Tt EN:VN
HERAZES— W=150 24& m 13.6 14288 — 0260 — 0445 = 13583
¢ 250 H=1.30 H=1.00
TUFRA%E (G ARZ N % 3 2+ 1 = 3
to#HA ¢ 250
Ly uik'yhR L& H=150 & 3 2 + 1 = 3
to#HA ¢ 250
Ly uik'yhR &8 H=100 & 3 2 + 1 = 3
to#HA ¢ 250
Ly uik'yhR &8 H=300 & 2 2 + = 2
to#HA ¢ 250
Ly uik'yhR TE H=300 & 3 2 + 1 = 3
to#HA ¢ 250
Ly uik'yhR JE&F (Ff2) H=40 | {& 3 2 + 1 = 3
hgoyR H=300 & 1 1 = 1




DIP-GX ¢ 200mmiBkKEfRRT HEBFtHEE

fER &4 Y:1.00m~2.10m NO. 3
& 4 R
I £ _# FBRTZE g % 2 B _Z
FE ERT)
Tt K
SRR MOART T W @200 m 141 14830 — 0260 - 0445 = 14.125
EEES BE BYE
GXf; #F T ¢ 200 AT 3 + 3 = 3
EREES BlE
GXfs ##F T ¢ 300 (&7 2 2+ = 2
EREES BlE
GXfs ##F T ¢ 200 &R 15/ 15  + = 15
G-Link
GXfs ##F T ¢ 200 (&7 9 9 = 9
DERE
BT ¢ 200 [m] 771+ = 7
ISUTHET ¢ 200 [m] 1 1 = 1
TUHHET ¢ 200 &1 1 1 = 1
HHG%ER
THIKER T $200x $200 | EHPFT 1 1 = 1
THiKFHET ¢ 200 (&7 1 1 = 1
BEE/ UK
FYIFLVAY-THEL ® 200 m 14.8| 14.830 = 14.830
BEHRT—TT m 13.6 BB &Y = 13.583
ARSI W=150 2f& m 13.6 EHH LY = 13583
® 200
BAKHEBRT BRER E g m 148 14830 + = 14.830
¢ 250 H=1.30 H=1.00
TOFRABEREMGT CR1E1+y 'R (&7 3 2 4+ 1 = 3
to#HA ¢ 250
LY Uk IR BT L& H=150 & 3 2+ 1 = 3
to#HA ¢ 250
LY Uk IR BT &8 H=100 & 3 2+ 1 = 3
to#HA ¢ 250
LY Uk ) B T &R H=300 L] 20 2+ = 2
to#HA ¢ 250
LY Uk IR BT T# H=300 & 3 2+ 1 = 3
to#HA ¢ 250
LY Uk IR BT EEB(MA) H=40 | & 3 2+ 1 = 3
[£T]
¢ 200
EELTD-5 MEEEERE) | m 4.2 42 + = 42
¢ 200
EEIL T4 FHEERR(EE) m 1.2 12 + = 12
¢ 200
EHl £ TR-3 FHENER(EE) m 7.8 32 + 46 = 78
7K 5315k ¢ 200
EELTE-1 MEEEERE) | m 3.0 30 + = 30
TETKL I 6 200
il | @) TEFEEERE) @ m 1.9 19 + = 19
[t88T1])
ZEMARLIBT LSP-2& W=250 | &l +I®5 I®4 xI®-1 IO 14.8kg/m
H=2.5m 1EEX{R} T=TAH m 10.3 42 + 12 + 30 + 1.9 = 103




[DIP-GX ¢ 200] tIEIRE

No. 3
HE e - e/ EESHE FEE =  0.68 CYE = 0.77
R — G UL TN
W it B | g | W9 (LD DR
F5 K kB OS|F 2N Iy 2N S|F/EE R B OS|EFEF BR E S DIV
(D 6x6 | 0.680 1 | 6X-G | 1.0ooo| 1.680[ 3.320[ 2
(@ 6x6 | 1.423 2 | GX-G | 1.685| 3.108| 1.892| 2
| X6 | 1.000 4 | GX-G | 0.845| 3 6x-G | 0.945| 2.790] 2.210[ 3
& 7 [DIP-GX ¢ 200] L = 5,000 3 ;N 7.578| 7.422 7




T I ¥ R % =
No. 3 0. 1 TI®D-5 0.2 +I2-4 NO. 3 +I®-3 NO. 4 T+I®-1 0.5 TI® NO. 6 NO. 7 NO. 8
200mm DIP-GX B K& 4.2 “EE L 1.2 “EE L 7.8 “EE L 3.0 ZEE L 1.9 “EE L “EE L “EE L “EE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & &

AsEhiZEhR 2.00 8.40 2.00 6.00 2.00 3.80 18.20 )| ( 18)

SEUMT t=15cmLL T m
As#iZtRR BHO. 28m3 0.90 3.78 1.40 4.20 1.40 2.66 10.64 )| ( 11)

SHEERRREFE T [t=10cmilt m2
BHO. 28m3 1.64 6.89 1.77 2.12 0.52 4.06 2.51 7.53 2.37 4.50 25.10 ) ( 30)

AR R T ME L m3
BHO. 28m3 0.34 1.43 0.34 0.41 0.21 1.64 1.1 3.33 0.97 1.84 8.65 ) ( 10)

HHERT BER m3
BHO. 28m3 1.04 4.37 1.40 1.68 0.27 2.1 1.05 3.15 1.05 2.00 13.31)|( 10)

HERT HESL m3
(RC-40) 0.90 3.78 1.40 4.20 1.40 2.66 10.64 )| ( 11)

TREERET t=15cm m2
(RM-30) 0.90 3.78 1.40 4.20 1.40 2.66 10.64 )| ( 11)

LRERET t=17cm m2
BAZTHLAs13mm 0.90 3.78 1.40 4.20 1.40 2.66 10.64 )| ( 11)

B R 18 16 t=3cm m2
BitunT 0.48 2.02 0.21 0.25 0.22 1.72 1.34 4.02 1.20 2.28 10.29 )| ( 10)

() 41DT m3
RitunT 0.09 0.38 0.14 0.42 0.14 0.27 1.07 )| ( 1)

(AS) 4tDT m3,
ZAE 0.21 0.88 0.33 0.99 0.33 0.63 2.50 ) ( 2.5)

ASH% t
TEEE 0.90 3.78 1.40 4.20 1.40 2.66 10.64 )| ( 10.6 )

HRE{REIR (5-5-10-15) m2,




+ I # it B =
No, 1
WrigidsS = (@D-5 DIPg200 L= 4.2 m
Bt B = il (E ) HaE 1.70 m (£#¢D)
s = 0220 X 0220 X x / 4 = 0.038
EHE = X X z /J 4 =
Im2%47
% 7t #H = H o & & i =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
LERIE 1. BHO.28m3
AsEERERR t=10cmbd 1.00 X 0.90 = m2 0.90
AT BHO.28m3
- A - FEE A 1.00 X 090 X ( 1.92 — 0.10 )= m3 1.64
T BHO.28m3
K NFRED AR 1.00 X 0.90 X 0.42 — 0.038 = m3 0.34
T BHO.28m3
LG TN A 1.00 X 090 X 1.15 = m3 1.04
TSI T (RC-40)
t=15cm 1.00 X 0.90 = m2 0.90
/BT (RM-30)
t=17cm 1.00 X 0.90 = m2 0.90
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.90 = m2 0.90
LG T 4DT wmElE WAL
FEAS 177 1.64 —( 1.04 = 0.90 )= m3 0.48
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 090 X 0.10 = m3 0.09
EIN -
TAT7 /iR 0.09 X 235 = t 0.21




T T H E i B

i

No,2
B s =  @-4 DIPg200 L= 1.2 m
BEIE B = FlEE RS () 2.10 m (£#0)
B = 0220 X 0220 X x / 4 = 0.038
B = X X z [/ 4 =

1m0

& 7 H# H o K & i =

AR T
AsEFLEIR t=15cmEL T m
ERLRERAR T, BIHO.28m3
AsEHHEIR t=10cmIL m2
LHE 1. BHO.28m3
1 B A - BEE - 1.00 X 0.90 X( 2.32 — 0.35 )= m3 1.77
HIEE T, BHO.28m3
SN A 1.00 X 090 X 0.42 — 0.038 = m3 0.34
HIEE T BHO.28m3
SNl TS A 1.00 X 090 X 155 = m3 1.40
AT (RC-40)
t=15cm mZ2
RS T (RM-30)
t=17cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm mZ2
T 1. 4DT wmElE WAL
FHAH L4 1.77 —(C 1.40 = 0.90 )= m3 0.21
FELH T 4tDT
FFAS TAT7/A b = m3
EIN -]
TA77/bfi t




o

Wrig#sS =  (@-3 DIPg200 L= 7.8 m

T &

B #i = G () 1.00 m (£:4£0)

EEE = 0220 X

0220 X /4

= 0.038

R = X

X =z J 4

=111}
—+

"

i

No,3

1m0

&

E

7

]

# &

i =

BRI T
AsEFLEIR t=15cmEL T

LERIE 1. BHO.28m3
AsEFLER t=10cmId T

mZ2

LHE 1. BHO.28m3
Wi A - FEE A

1.00 X 0.60 X ( 1.22

0.35 )=

m3

0.52

HHECT BHO.28m3
LN AR

1.00 X 0.60 X 0.42

0.038 =

m3

0.21

HEECT BHO.28m3
LN FEAE A

1.00 X 0.60 X 0.45

m3

0.27

FEEEE T (RC~-40)
t=15cm

mZ2

RS T (RM-30)
t=17cm

mZ2

BEIETIRIE IH (FAE B #7As 1 3mm, A 7))

t=3cm

mZ2

FELH T 4tDT
FHiAS A%

IR
052 —( 0.27 = 0.90 )

m3

0.22

FELH T 4tDT
FHAZ TAT7 /e

m3

YN
TR77 /bR




T I #% E & & EBE
No,4
Brgid&s =  @-1 DIP3200 L= 3.0 m (FHAKME)
Bt B = il (E ) HaE 1.30 m (1-#0)
s = 0220 X 0220 X x / 4 = 0.038
EHE = X X z /J 4 =
Im2%47
% B 7t #H = H o & & i =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
LERIE 1. BHO.28m3
AsEHEEIR t=10cmbd 1.00 X 1.40 = m2 1.40
I T. BHO.28m3
BRI A BEE - 1.00 X 1.40 X ( 1.92 — 0.10 )— 0.038 =| m3 2.51
HHEE T BHO.28m3
LN AR 1.00 X 1.40 X 0.82 — 0.038 = m3 1.11
HHEE T BHO.28m3
BN FEAE A 1.00 X 1.40 X 0.75 = m3 1.05
TSI T (RC-40)
t=15cm 1.00 X 1.40 = m2 1.40
/BT (RM-30)
t=17cm 1.00 X 1.40 = m2 1.40
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 1.40 = m2 1.40
LML 4DT wmElE WAL
FBUAL | 251 —( 1.05 =+ 0.90 )= m3 1.34
FE T 4DT
TGS TR 1.00 X 1.40 X 0.10 = m3 0.14
EIN:
TR77 /b 0.14 X 235 = ¢ 0.33




T I #% E & & EBE
No,5
Wrig s = (@D DIPg200 L= 1.9 m (FHAKMLIR)
Bt B = il (E ) HaE 1.30 m (1:#9)
s = 0220 X 0220 X x / 4 = 0.038
EHE = X X z /J 4 =
Im2%47
% 7t #H = H o & & i =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
LERIE 1. BHO.28m3
AsBEHIR t=10cmid F 1.00 X 1.40 = m2 1.40
1 BHO.28m3
Wb A FEE £ 1.00 X 1.40 X ( 1.82 — 0.10 )— 0.038 =| m3 2.37
I T BHO.28m3
K NFRED AR 1.000 X 1.40 X 0.72 — 0.038 = m3 0.97
I T BHO.28m3
LG TN A 1.00 X 1.40 X 0.75 = m3 1.05
TSI T (RC-40)
t=15cm 1.00 X 1.40 = m2 1.40
/BT (RM-30)
t=17cm 1.00 X 1.40 = m2 1.40
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 1.40 = m2 1.40
LG T 4DT Al AL
FEAA 1+ 237 —( 1.05 = 0.90 )= m3 1.20
FELH T 4tDT
FEAB TAT7 MR 1.00 X 1.40 X 0.10 = m3 0.14
EIN -
TAT7 b 0.14 X 235 = ¢ 0.33




4. BC/KEHPPE ¢ 7omm  E &R



HPPE¢7SmmECKERT HEBFES

R &M T #Y:0.70m~0.80m NO. 4
&g 4 R
I & BRTE Bl y & sHE #_F
KEEKER AZEE [
H# RYIFLUE ¢ 75 % 5,000 P 11| 5.000 5000 x( 11+ + ) = 55.000
KEEKER EE EER
RUTFLUE ¢ 75 % 5,000 N 1] 5.000 5000 x( 1 + + ) = 5000
KEEKER EE
RYIFLUE ¢ 75 x 5,000 N 4 UIERELY = 17336 ©1EH
RYIFLUER s
EF22° 1/2_RUK $75%22° 1/2 e 2/ 0.280 0280 x 2 = 0560
RYIFLUER s
EF11° 1/4R2F ¢75%x11° 1/4 & 3| 0.260 0260 X 3 = 0.780
RYIFLUER A%
EF11° 1/4RK G75%x11° 1/4 & 1] 0.360 0360 X 1 = 0.360
PEFEO Y7 - LA EDF 975 & 1 0.780 0.780 x 1 = 0.780
RYIFLUER
EFY vk 75 & 2 2 = 2
FYIFLUER
AhFxrvT 75 & 2 2 = 2
BEEER = 79.816
A-7TR EER EER
BB ¢ 75 m 105.4 79816 x (60 x ¢ + o01) . 50 = 105357
100m L)
RBEHER)-TRAT-7 m 40.7 79816 x 510 .~ 100 = 40.706
ERIER Tt
ERRT—F W=50 m 79.0 79816 - 0.780 = 79.036
TILE TELEER Tt
BEEHE— W=150 2% m 79.0 79810 - 0.780 = 79.030
¢ 250 H=0.70
TtUHEA%E CR1E1+y R P54 1 1 + = 1
to#HA ¢ 250
LY Uiy EEYS H=100 | @ 1 1 + = 1
to#HA ¢ 250
LY Uiy L TE H=150 & 1 1 + = 1
to#HA ¢ 250
Ly kv R JE&8 (FIf2) H=40 | {& 1 1 + = 1




HPPE ¢ 7TO6mmEckKERRT HESHEE

R &M T #Y:0.70m~0.80m NO.
& 4 R
TiE £ _# BRTE g % 2 17
[#E+T) EE S Ho#
FH | RUIFLUERAT $75 m 79.0 79816 — 0.780 = 79.036
(1O#%F) A1 22 i
EF#¢F T 75 AT 220 11+ 1 + (2 + 3) x 2+ = 22
(2O#%F) Yok
EF#¢F T 75 AT 2 2 4+ = 2
UIERELY
RYIFLUEYIMT 75 O 6| 6 = 6
Fryd
AAZHILEF ¢ 75 =] 20 2 = 2
EOLTR
HOHFREL 75 = 11 + = 1
BBHER)-THET ¢ 75 m 79.8| 79.816 = 79816
ERRT—IT W=50 m 79.0 E#H LY = 79.036
FILZ
HEZS— T W=150 2% m 79.0 B LY = 79.030
EKE
BAKEHBRT BRER Bk m 79.8| 79.816 = 79816
¢ 250 H=0.70
TOFRABEREMGT (O AR &1 11+ = 1
to#HA ¢ 250
LY URYIAER T FEEYS H=100 | @ 1 1 + = 1
to#HA ¢ 250
LY URYIAER T L TFE H=150 & 1 1 + = 1
to#HA ¢ 250
LY URyIAER T JEER(AR) H=40 | & 1 1 + = 1
(1]
75
EE L T@-1 FHELE R (5E) m 76.1 761 + = 761
75
EHILIT@-2 FHENER(GE) m 3.7 3.7 + = 37




[HPPE® 75 EE] UIEHE

No. 4
BRI SR RS - RN A FENE = 0.35m ZY)E = 0.25m
c o
W | om o i v
&5 pik & s|lEs owk g oslas oew & sler omr & s|En ok g s 7
1 2.332] 2 2.017 4.349| 0.651 2
3 3.475] 4 1.297 4.772] 0.228 2
5 4. 058 4.058] 0.942 1
6 4. 157 4.157] 0.843 1

o

it [HPPE¢ 75 E&] L = 5,000 4 K 17.336] 2.664 6




T I ¥R & M =
No. 4 TI@-1 NO.2 +T@-2 [ NO.3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
75mmHPPEEEAK & ER L 3.7 =HERL ER L ER L SER L SER L SER L ER L
R L R L R L R L R L R L R L R L
% i b3 & & HERE
BHO. 28m3 0.33 25.11 0.39 1.44 26.55 ) ( 30)
AR IR T MEL m3,
BHO. 28m3 0.17 12.94 0.17 0.63 13.57)]( 10)
BMIERT BER m3,
BHO. 28m3 0.16 12.18 0.22 0.81 12.99 )| ( 10)
BAMIERT HEL m3,
BiMHT 0.15 11.42 0.15 0.56 11.98 )| ( 10)
(E5) 4tDT m3




+ I % it & &

el

No, 1
Wik s = (@-1 HPPE$75 L= 761 m

Brar i #f = GHE EE CFaE) 0.70 _m (£#£0)

R = 0090 X 009 X z / 4 = 0.006

EHEE = X X 7z J 4 =

im0

i %

i

=6 # o] &

Ty
~
i

+

A L
AsBHEER t=15cmlL m

BB L BHO.28m3
AsEFEEIK t=10cmId m2

i 1. BHO.28m3
P A B 1.00 X 0.60 X( 0.79 — 0.24 )= m3 0.33

HEET BHO.28m3
KNS R 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17

HERI BHO.28m3
A A 1.00 X 0.60 X 0.26 = m3 0.16

FIEEE T (RC~40)
t=15cm mZ2

_F/EEEAE T (RM=30)
t=17cm mZ2

BEIETIRE TH (FFAE R As 1 Smm, A 7))

t=3cm mZ2

LG T 4DT EIT WAL
RS L4 0.33 —(0.16 +~ 0.90 )= m3 0.15

FEAHG T ADT
FFRL FATr/ bR m3

ZNE
TR P t




+ I % it & &

el

No,2
i @-2 HPPE$75 L= 37 m

Brigib B = FHEaEECEE) 0.80 m (1-#70)

R = 0090 X 009 X z / 4 = 0.006

EHEE = X X 7z J 4 =

im0

i %

i

=6 # o] &

Ty
~
i

+

A L
AsBHEER t=15cmlL m

BB L BHO.28m3
AsEFEEIK t=10cmId m2

i 1. BHO.28m3
P A B 1.00 X 0.60 X( 0.89 — 0.24 )= m3 0.39

HEET BHO.28m3
KNS R 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17

HHEE 1. BHO.28m3
SNGIED FEE A 1.00 X 0.60 X 0.36 = m3 0.22

FIEEE T (RC~40)
t=15cm mZ2

_F/EEEAE T (RM=30)
t=17cm mZ2

BEIETIRE TH (FFAE R As 1 Smm, A 7))

t=3cm mZ2

LG T 4DT EIT WAL
RS L4 0.39 —( 0.22 + 090 )= m3 0.15

FEAHG T ADT
FFRL FATr/ bR m3

ZNE
TR P t




6. FKE ¢ T5X ¢ 20, b 26mm KR



BiEES

RS 241 :0.60m~0.30m NO. 6
B H R
TiE £ BT H 5 & B Z
H#H
HPPE (#5858 As47°
YL AT KEE b75% 20 = 1 1 1
HPPE FR(E5 858 B447°
YL AT KEE b75% P25 = 1 1 1
FCD& A847
1K YIR ZRME [E] 1 1 1
FCD& B4#47°
1K YIR ZRME [E] 1 1 1
5 [FEFT])
HPPE A8{7
DIKRETAAT b75% 20 [Elzi 1 1 1
HPPE B447
NKERETAAT ¢ 75% p25 (&5l 1 1 1
I AR{7 1EFRLY
FRKEERT PE ¢ 20 & 1 1 L=0.9m 1
I B447 1LY
FRKEERT PE ¢ 25 & 1 1 L=0.9m 1
(1]
PE ¢ 20
EELETD-1 FEERGE)  m 0.9 0.9 0.9
PE ¢ 25
EELTD-2 FHEERGE) | m 0.9 0.9 0.9




No. 6 T -1 T -2 T T T T T T
HKEB75x $20, §25mmirag 0.9 =ERL 0.9 =fERL SER L SER L SER L SER L SER L SER L
% L1 b5 1% B HREHE
BHO. 13m3 0.20 0.18 0.20 0.18 ( 0.36)( 0.4)
B PR IR T MEL m3
BHO. 13m3 0.1 0.10 0.12 0.11 (0.21)( 0.2)
HBHERT BER m3,
BHO. 13m3 0.08 0.07 0.08 0.07 ( 0.14)|( 0.1)
BHERT ke m3,
RiunT 0.1 0.10 0.1 0.10 (0.20)( )
(£8) 2tDT m3, R EMEA T




Wrg#ES =  (D-1 PEP $20 L= 0.9 m
Brigib B = FHEaE B CEE)

R = 0030 X 0030 X 1 / = 0.00]
2R = X X /4 = 0.000
Im2%0
% 7 o & =

BT
AsBFLEIR t=15cmEL T "
BULEN A 1
AsFIHEIR t=10cmll T m2
i T, BHO.13m3
W A PEE A 1.00 X 050 X( 0.63 — 0.24 )= m3 0.20
HIEE 1. BHO.13m3
S NGNS PR 1.00 X 0.50 X 0.23 — 0.001 = m3 0.11
HIEE 1. BHO.13m3
S NFEIE D A A 1.00 X 0.50 X 0.16 — = m3 0.08

mZ2
FEIE T (RM-30)
t=11cm mZ2
W EE IH (A ERIAs13mm, A 7))
t=3cm mZ2
FELA 5T 2(DT el WAL
FHiAB 14 0.20 —( 0.08 = 0.90 )= m3 0.11
FEL A T 2tDT
FEAB TAT7/b m3
AL

TR 7P t




WrgiES =  (D-2 PEP $25 L= 0.9 m
Brigib B = FHEaE B CEE)

R = 0035 X 0035 X 1 / = 0.00]
2R = X X /4 = 0.000
Im2%0
% 7 o & =

BT
AsBFLEIR t=15cmEL T "
BULEN A 1
AsFIHEIR t=10cmll T m2
i T, BHO.13m3
W A PEE A 1.00 X 050 X( 0.64 — 0.24 )= m3 0.20
HIEE 1. BHO.13m3
L NFEIED AR 1.00 X 0.50 X 0.24 — 0.001 = m3 0.12
HIEE 1. BHO.13m3
S NFEIE D A A 1.00 X 0.50 X 0.16 — = m3 0.08

mZ2
FEIE T (RM-30)
t=11cm mZ2
W EE IH (A ERIAs13mm, A 7))
t=3cm mZ2
FELA 5T 2(DT el WAL
FHiAB 14 0.20 —( 0.08 = 0.90 )= m3 0.11
FEL A T 2tDT
FEAB TAT7/b m3
AL

TR 7P t




7. BERETE HEKR



k& T HY:1.20m NO,
& 4 R
TiE £ _# BRTE iy % & 17
HE
& (#ET)
ISV UmAL FREXE ¢ 400 m| 1 1 = 1
HRERET KT ¢ 150 m 6.2 620 = 6.200
B ERETRT ¢ 150 [m] 2 6200 = 30 m/O = 2
%D 4=v9"
nyg 85T 0 150 t 0.2 (2721 + 452 )x 6.200 = 197 ke
(1]
¢ 150 FER

EELTE-1 FHEERR(EE) m 2.4 24 = 24




T I ¥ R K i %
No. 7 NO. 1 T+I®-1 NO. 2 TI® NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
HREWE 24 -=EEL SER L SER L SER L SER L SER L SER L SER L
SER L SER L SER L SHER L SHER L SHER L SHER L SHER L
£ 5 iR & & HEHE
BHO. 28m3 0.59 1.42 1.42 ) ( 1)
AR ERHE T s+ m3
BHO. 28m3 0.61 1. 46 1.46 )| ( 1)
HIERT FAEL m3
THAT -0. 09 -0.22 -0.22 )| ( )
(E8) 41DT m3 kD SR




Wik s = ®-1 DIP$150 L= 24 m

o

el

BrETF Ff = G R () 1.20 m (£4£0)

B = 0170 X

0.170 X r /

4

= 0.023

EEE = X

X Vi J/

4

I

No, 1

im0

+

=

# ]

i

2

i %

ARG L
AsBHEER t=15cmlL

BHAERR AT BHO.28m3
AsEEIEIR t=10cmidL T

mZ2

i T, BHO.28m3
w1 BEE A

1.00 X 0.60 X(

1.37

0.35 )— 0.023

mS3

0.59

PR T BHO0.28m3
SN AR

m3

HRT BHO.28m3
SN FEAE

1.00 X 0.60 X

1.02

m3

0.61

TS T (RC-40)
t=15cm

mZ2

/BT (RM=30)
t=17cm

mZ2

BEIETIR A TH (FFAE R As 1 Smm, A 7))

t=3cm

mZ2

LA T 4DT
FEA S LAY

MmE L WAL

0.59 —( 0.61 =+

0.90 )

m3

-0.09

FEL G T ADT
TR TAT7 N

m3

YN
T AT /bl
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